Where there are a series of positive statements, these should be considered True/False/Uncertain - Explain.





1.  Indifference between two bundles of goods means that a third bundle containing half of the first and half of the second will be equally preferred to either of the first two.





2.  In 1890 "basic human needs" in the United States were considered to be food, shelter and clothing.  In 1990, Senator Ted Kennedy asserted that our "basic human needs" now also include medical care, affordable transportation, and day care.  Have human beings become more needy in the last 100 years?  What are "basic human needs?"





3.  In an interview in the Seattle Times shortly after the UW football team won the national championship, Barbara Hedges was asked:


    "Will non-revenue sports benefit from the any additional money from the football success?"  She answered:  "The money will be appropriated the way it always has been appropriated here - where the need is.  If there are some things we need to do in the football program, we will do it.  If there are things we need to do with our other programs, we will do it."


    Evaluate Mrs. Hedges answer being sure to relate it to the concept of scarcity.  Suggest an economic way to allocate the money.





4.  a.  "The time spent in purchasing a good should not be considered part of the cost since the time would have passed anyway."  Evaluate.


     b.  Given the state's budget crisis, the University has been asked to evaluate the need for the various programs it offers.  What outcome would you expect from this evaluation?  


What question is it that the University ought to be addressing?





5.  In justifying an increase in the Business and Occupations tax to assist in paying for the reforms in healthcare in Washington state, the Governor noted that, unlike many other state services such as roads, parks, museums or higher education, healthcare is a "basic human need."


    Does the concept of "basic human needs" have any economic content?  Explain why or why not being sure to relate your answer to scarcity and substitution.





6.  The campus Daily recently ran an ad by Bruegger's Bagel Bakery in which Bruegger's offered "3 free bagels" to students mentioning the ad.  In the economic sense, are the three Bagels free?





7.  The economic cost of an action


a.  is borne by the decision maker.


b.  is zero if there are no alternatives.


c.  is the out of pocket expense associated with the action.





�
8. The following are the indifference schedules for John and Julie.  Each currently has combination C.


       JOHN                          JULIE


    $         Pop                     $         Pop


A  $11.10     8              A  $15        8


B   10.50     9               B   12         9


C   10         10              C   10        10


D   9.60      11              D   8.50     11


E   9.30      12              E    7.50     12





a.  If John and Julie trade, do you expect John's marginal value of pop to increase or decrease.


b.  If a middleman arranged the trade, what is the most pop and the most money the middleman could charge?





9.  Economic theory explains social occurrences from the perspective that:


      a.  everyone desires more than they have.


      b.  the value of anything is equal to its price.


      c.  whatever people want is what they ought to be able to buy.


      d.  individuals make choices consistent with their goals.





10.  The following are indifference schedules for Tony and Kim:


           KIM                TONY


         POP  CANDY        POP   CANDY


            a    4     0              a   4      1


            b    3     1              b   3      3


            c    2     3              c   2      6


            d    1     6             d   1      10


            e    0     10            e   0      15





Each has combination c.  Who likes pop more?  If trade occurs, what happens to Kim's marginal value of pop?  What is the most candy a middleman could earn for arranging trade?





11-12.


The following are indifference tables for Chris and Kim


                         a   b    c   d   e   f     g


Chris   Food      6   5   4   3   2   1    0


           Drinks    0   1   3   6  10  15  21





                          a   b   c    d    e    f     g


Kim     Food      6   5   4    3    2   1     0


           Drinks    0   6  13  21  30  40  51





They both have combination d (Chris 3 food, 6 drinks; Kim 3 food, 21 drinks).
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11.  a.  Do you expect trade to occur?  Explain


    b.  Assume they trade for one unit of food at a time.  What is a possible post trade combination of food and drinks for both Chris and Kim?  Explain how they might reach this equilibrium.





12.  a.  Explain how a middleman might assist in Chris and Kim trading?


    b.  If a middleman arranged trade between Chris and Kim, what is the greatest amount of food the middleman could earn?


    c.  Explain how the use of a trading intermediary might assist in Chris and Kim being able to trade.  What characteristics of the intermediary good would be desirable?





13.  When people trade, their marginal value for the good they have received falls.





14.  The process of trade


a.  occurs only when individuals have surpluses of some goods.


b.  occurs only when marginal values differ among traders.


c.  is hindered by middlemen who raise prices to cover their costs.


d.  causes people's marginal values to differ from each others.





15.  An recent article in the Seattle Times reported that Redmond DARE officers will "soon be behind the wheel of a Porsche 944 and a BMW.  Sgt. Gail Marsh said, "We've had several phone calls, with people asking, 'How can the Redmond PD afford 


a Porsche and a BMW?'  However neither car cost the department a dime.  Both vehicles were confiscated from marijuana growers."


    Explain the meaning of the concept of "cost" and evaluate the cost of the Porsche and BMW to the Redmond police department.





16.  The following are indifference schedules for Chris and Kim:


           Chris              Kim


        Shoes Socks       Shoes  Socks


     a    1    33       a   1      44


     b    2    22       b   2      30


     c    3    13       c   3      18


     d    4      6       d   4       8


     e    5      1       e   5       0


Each has combination c.


    a.  If trade occurs, what happens to Kim's marginal value of socks?  Carefully explain your answer being sure to describe how trade can occur, the direction of trade, and a proposed post trade equilibrium.


b.  What economic factors make such trades costly?  What institutional factors serve to lower the costs of such trades?





17.  The following are indifference tables for Jacky and Tony:


		 a	 b	 c	 d	 e


Jacky	CDs	22	21	20	19	18 						Movies   5 	12	20	29	39





Tony	CDs	12	11	10	 9	 8


	Movies   7 	 8	10	13	17					


Both begin with combination c.


a.  Do you expect trade to occur?  If so would the trade be efficient?  Explain.


b.  Explain how having money and middlemen can make trade more likely.


c.  Assume they come together and trade one CD.  Will they also trade for a second CD?	(Explain carefully addressing how trade may change their marginal values.)





18.  QFC ran an ad in which upon exiting QFC a "randomly selected" shopper was asked to go to Safeway and buy what they had just purchased at QFC.  The shopper reported back that the QFC basket of groceries cost about 5 percent more at Safeway, which of course QFC noted as showing their low prices.  Yet Safeway performed the same experiment and found that a "randomly selected" Safeway shopper's basket of groceries cost 5 percent more at QFC, suggesting that Safeway had the lower prices.  Explain how the Law of Demand clears up this apparent contradiction about which store has the lower prices.





19.  Jane must be worse off if


a.  her income falls but there has been no change in the overall consumer price index.


b.  her income is unchanged and the overall consumer price index has risen.


c.  her income is unchanged and the overall consumer price index has risen only because her favorite beer's price increased.





20.  A.  "Money is the root of evil.  It leads to competition for material goods rather than concern with human relations"


    "Money allows increases in wealth.  Money therefore is instrumental in allowing people time to devote to human relations."


    As a student of economics, what do you think of these contrary views?


      B.  "Hi, I'm Tom Shane.  I am a direct diamond importer. I therefore eliminate the middleman, passing the saving onto you.  Come down to 4th and Stewart and save big."    Evaluate.





21.  The "rights" associated with owning any good


      a.  are the uses of the good in fact controlled by the owner.


      b.  likely change over time as social customs and behavior change.


      c.  depend heavily on the cooperation of other people.





22.  Last week, Jumbo Foods sold milk for $1, meat for $2, and vegetables for 50 cents.  The Smith's bought 2 milks, 3 meats, and 2 vegetables.


    This week, the prices changed to $1.50 for milk, $1.50 for meat, and 75 cents for vegetables.  The Smith's bought 1 milk, 4 meats, and 1 vegetable.


    Can you determine whether the Smith's preferred the original or the new prices?





23.  Which of the following explain negative sloped demands


a.  people will substitute among goods.


b.  people have different tastes and preferences.


c.  the more you have of a good, the less you'll give up to get an additional unit.





24.  The law of demand implies that


a.  as the return to college education rises high school students are more likely to take SAT review courses.


b.  if the price of the closer (more expensive) Montlake coin lot and the more distant cheaper lot both rise by 50 cents per day, a greater percentage of parkers will park in 


the cheaper lot.





25.  If the prices of all goods rise by the same proportion


a.  the quantity demanded of all goods would decline.


b.  the quantity demanded of all goods would decline except for prestige goods (like Rolls Royces).


c.  the quantity demanded of all goods would be unchanged.


d.  the percentage change in the quantity demanded of individual goods would vary depending upon the goods elasticity of demand.





26.  The Law of Demand predicts that I prefer substantial "inflation" if my employment contract provides for a wage increase equal to the increase in my "cost of living" (as 


measured by inflation).





27.  "An increased tax on gas won't reduce consumption.  While the higher price may at first reduce demand, the reduced demand will eventually bring the price back down again, with consumption likely unchanged."


      


28.  If economics professors could be sued for malpractice by students who received credit in Econ200 despite their failure to learn, we would confidently expect:


      a.  the quality of teaching to rise.


      b.  exams to be more difficult.


      c.  fewer students to take Econ200.


      d.  increased difficulty in passing Econ200.





29.  According to the Law of Demand, the lower the price of vacations, the more vacations I should take.  Yet I take one vacation each year.  The law of demand therefore doesn't apply to my demand for vacations.





30.  Last year my son Cris had his own one bedroom - one bath apartment.  His major utility expense was electricity for heating hot water.  This year he shares a two bedroom - two bath apartment with a roommate.  The price of electricity has not changed.  Utilizing the Law of Demand, would you expect his consumption of hot water to change?


    


31.  Marty's demands for pop and candy are:


                 POP               CANDY


   Price         6  5  4  3       6  5  4  3


   Quantity    1  2  3  4       1  1  2  2





Larry's Market sells pop for $5 and candy for $3.  7-11 sells pop for $4 and candy for $5.  Based on price, where would Marty prefer to shop?


�



32.  Jackie's demand for small fries is:


    price                  $.30  .40  .50  .60


    fries demanded       3    2    1    0





    Jackie's demand for mini-burgers is:


    price                       $ .30   .40   .50   .60   .70


    Dogs demanded           4      3      2      1      0





Because she insists on hot fries and burgers she buys them at one stand.  Mary's stand charges $.40 for fries and $.50 for burgers.  Joe's stand offers a Hungry Meal Deal of 3 burgers and 3 fries for $2.50.  Which stand will Jackie prefer?





33.  The Law of Demand implies:


a.  a per vehicle automobile tax will increase the relative purchases of the more expensive models.


b.  the elasticity of demand is never zero.


c.  there is nothing like a good recession to cure the military's recruiting problems.


d.  as wage rates rise, more women are expected to work outside the home.


 


34.  Senator Daniel Moynihan has proposed a plan to "decrease violence" by placing a substantial tax on ammunition.  The National Rifle Association called the plan laughable responding "We seriously doubt that anyone in America believes violent 


crime is going to go down because taxes go up."


    a.  Assume that manufacturers of ammunition will make it available for any payment over 25 cents per bullet.  Using a diagram, analyze the effect on the market for ammunition from Senate Moynihan's proposal.


    b.  Would you expect such a proposal to impact violent crime?


    c.  Again using a diagram, would you expect the number of knifings to be impacted?





35.  Land used to grow tobacco for cigarettes is limited in acreage by the US government.  A bill is being discussed in Congress that would reduce each land owner's allocation by 25 percent.  This is supported by the American Cancer Society and also by the Association of American Tobacco growers.


    a.  Explain the circumstances that would make it in the self interest of each of these organizations to support such legislation?


    b.  Explain how the benefits of each organization will change as time goes on (e.g., as we move from the short run to the longer run.)





36.  Washington State is proposing taxing consumers in order to finance health care for the poor.  Alternative bills have proposed placing the tax on cigarettes or on soft drinks.  Assume at the current prices of $2 for cigarettes and $2.50 for soft drinks, one million units of each are consumed.  Would you expect the revenue raised from a $.25 per unit tax to be greater if the tax were placed on cigarettes or on soft drinks?





37.   Kim has the following demand schedule for trips to the doctor 


$/trips  	$80	70	60	50	40	30       20       10


trips/yr 	    1	 2	 3 	 4	 5	 6         7         8


The market price of doctor visits is $50 per visit.  Blue Cross/Blue Shield offers Kim an insurance policy with a $10 copayment per visit (Kim pays the doctor $10 each time she visits the doctor.)  


A.  What is the most Kim would pay for this insurance policy?


B.  What will Blue Cross/Blue Shield need to charge for the insurance policy if they must pay the doctor the difference between the copayment and the market price?


C.  If Kim's medical insurance is tax deductible and she pay 1/3 of her income in taxes, would she purchase the insurance policy?


D.  If Kim and others buy insurance under motivations as shown here, what effect would you expect on the price of physicians' services to the uninsured?		





38.  A frost destroyed 50% of the Washington apple crop and most of the apple trees, yet after the frost the Delucia family consumed 20% more apple juice per week than before.  What demand factors might explain their behavior.


    


39.  My son bought 50 medium pepperoni pizzas in 1991 for $8 each.  In 1992 everything was the same in his economic life except the same pizza cost $10.  He choose to buy 40 pizzas.


a.  His demand is elastic.


b.  He is worse off by about $90


c.  He is certainly worse off by less than $100.





40.  The price of apples has increased by 33%.  The Jones family is observed to consume 10% more apples.


a.  Their demand for apples is inelastic.


b.  The increased price of apples must have increased the supply.


c.  The Jones is likely a supplier of apples.





41.  Assume a family bought 1000 gallons of gasoline in 1991 at a price of $1 per gallon.  In 1992 at a price of $2 they are expected to buy 600 gallons.


a.  Their demand is elastic.


b.  They are worse off by less than $1000.


c.  They are worse off by more than $600.





42.  A perfectly inelastic demand schedule (vertical demand curve) is inconsistent with


a.  the law of demand.


b.  the substitution postulate.


c.  finite wealth.


d.  scarcity.


e.  diminishing marginal value.





43. The elasticity of demand of gasoline should 


a.  increase at the current price if there were a substantial tax placed on emitted carbon oxides (exhaust causing "dirty air".)


b.  increase at the current price as people become richer.


c.  increase at the current price if home unit fusion power became practical and cheap.





44.  If the price of tea rises, the price of coffee is likely to rise as a result.





45.  A $1 per gallon tax on gasoline should increase (in absolute value) the elasticity of demand for Metro bus travel at the current price.





46.  A $2 per pack increase in the tax on cigarettes may not increase the revenue from cigarette taxes.





47.  Assume a family bought 50 pounds of potatoes when the price was $1 per pound.  If the price would have been $1.50 per pound, they would have bought 40 pounds.


      a.  They are worse off by more than $20.


      b.  Their demand is inelastic between these prices.





48.  The elasticity of demand for unleaded regular gasoline is likely increased at its current price by


      a.  an increase in income.


      b.  completion of rail transit system throughout King county.


      c.  institution of Perot's 50 cent per gallon tax.


      d.  institution of a $3,000 per year vehicle license fee.





49.  Rank from highest to lowest the elasticity of the following demands (at a price of $1 per gallon):  the demand for gasoline in Wenatchee, the demand for gasoline in Bellevue, the demand for unleaded regular gasoline in Bellevue.





50.  A substantial increase in the price of crude oil 


a.  will increase the price of coal.


b.  will result in an increase in the demand for oil by the OPEC countries.


c.  will result in an increase in the quantity demanded of oil by the OPEC countries.


d.  will cause a substantial reduction in consumption in non-OPEC countries until consumers can mitigate that reduction by adjusting their other purchases.





51.  Does an increase in the demand for Econ 200 for next quarter increase the cost to (some) students intending to take the course


      a.  No, because tuition is not set at the equilibrium level.


      b.  Yes if the course is then taught in a larger room that is more expensive to heat.


      c.  Yes if the course must then be taken at a less satisfactory time.





52.  Suppose massive new oil fields were discovered, causing the price of gasoline to fall to 40 cents per gallon overnight. You would predict that


      a.  The price of larger cars would increase.


      b.  The price would likely increase in the future as consumers adjusted to change.


      c.  The "cost" of solving the endangered salmon problem caused by the hydroelectric dams on the Columbia River would fall.





53.  Chris's demand for food is


   Price               10  9   8   7   6   5   4   3   2   1


   Qty demanded  1  2   3   4   5   6   7   8   9   10


The price of food is $5.  Food stamps are available.  $1 of food stamps which can be redeemed for $l of food at a cost to Chris 50 cents. Chris can buy at most $60 of stamps (at a cost of $30).


    a.  How much food will Chris buy if neither food nor stamps can be resold?


    b.  If food and stamps can be resold, how much food will Chris buy?  How much food would Chris consume?


    c.  Which system does Chris prefer?  Why might resale be prevented?





54.  Medical insurance that frequently pays the entire cost of hospitalization is claimed to be a major cause of the increased price of hospital care.  Yet critics suggest that "no one gets sick because the hospital is paid for or avoids getting sick because hospitals are expensive."  Briefly evaluate each contention.





55.  Would you expect the "responsiveness of the quantity demanded of cola to a change in the price of cola" (elasticity) to be affected by (and if so how):


    a.  a finding that the carbonation in cola lowers blood pressure;


    b.  the price of the carbonation ingredient increasing;


    c.  a finding that steroids (cattle feed) present in milk causes cancer.





56.  Would the following impact the elasticity of demand for coffee at its current price?  If so how (increase or decrease)?


A.  Caffeine found in coffee is connected to liver cancer.


B.  The price of milk used in lattees doubles.


C.  A frost is expected in the coffee growing regions of South America this winter.


D.  Instant coffee is outlawed.


E.  The government requires any coffee price increases to be announced one year in advance.





57.  The incomes of farmers vary substantially depending on the vagaries of the weather.  Due to political concern over farm bankruptcies, the government has assisted farmers over the years in various ways.  A major program was the Brannan Plan in which the government purchased wheat (intended for shipment overseas to less developed countries).  The government would purchase enough wheat to stabilize the price at its historic High Price.  The program was replaced (due to high costs and scandals of 


rotting wheat and well fed rats) by the Ever Normal Granary Program.  In this program, the government would simply guarantee the farmers the High Price.  In those years (which turned out to be all years) where farmers sold their wheat for less than the 


High Price, the government would issue them a check for the price difference (times the amount each farmer sold).


    Consider a particular year in which the crop is such that a Low Price would exist without government intervention.  Carefully analyze which program you expect to costs the taxpayers more.  Ignore the storage or shipping costs associated with the Brannan Plan.  But be sure to consider both the tax and any other cost to tax payers and also the benefits farmers received in each case.  (Hint - a diagram is helpful in analyzing.)





58.  A crass economist recently noted that a severe winter in Argentina that lead to a failure of their winter wheat crop was quite beneficial to American wheat growers.  An equally crass American farmer claimed that a severe winter in the US that destroyed half the crop here would be equally beneficial.


    a.  Explain how each of these claims can be true.


    b.  State the condition that must hold for the American farmer to be correct.  Assuming this condition holds, would the country benefit by passing a law calling for intentional 


destruction of half of each year's crop?


    c.  Assuming this condition (from b.) holds, would you expect Joe the wheat farmer to benefit from destroying half of his crop each year?





59.  If the government were to set up a gasoline rationing system under which equal quantities of gas are allocated to each vehicle, we would expect


a.  all cars to be driven about the same miles per month.


b.  cars being driven more miles before being junked.


c.  complaints from the wealthy who would have no easy way  to obtain more than                 their share of the gas.


d.  an increased demand for cars.





60.  Governments can't and don't create scarcity of goods.  But they can and do create shortages.





61.  The city of Seattle decided to "give downtown parkers a break" on a recent Monday because so many had put money into the parking meters when they didn't legally have to on the previous Monday, a legal holiday.  Did downtown parkers benefit?  Explain 


the factors determining who benefits.





62.  Rent controls give adequate housing to those in the lower income levels who would not otherwise be able to afford it."  Economically analyze this claim.


    


63.  "We currently have a serious social problem in our city with the homeless.  An important cause is price gouging by landlords making affordable housing beyond the reach of many.  I'm aware of a landlord who bought his building twenty years ago 


for $50,000 and now brings in that much in rent every month.  This unscrupulous behavior justifies instituting a city wide rent control program in which a significant number of rooms are priced at levels affordable to the homeless.  Such a program 


would go far to solving our housing problems.  Indeed it is a basic implication of economics that those with the most need benefit from policies such as this which keep prices low."  Evaluate the economics of this claim.





64.  Last summer Seattle experienced a severe water shortage.


    a.  Suggest a way to alleviate the shortage overnight while also allocating the water efficiently.  Discuss the effects of your proposal on the relative incomes of various families and suggest ways to maintain an efficient allocation of  water while alleviating undesirable "income effects".


b.  The city handled the shortage by limiting watering and particular uses of water.  Using examples show how this leads to an inefficient allocation of water.


�



65.  Are each of the following true or false statements about waiting lines:


    a.  Waiting lines may be economically desirable.


b.  Rationing goods by waiting, as opposed to money prices, is an effective way to benefit poorer people.


c.  Waiting in lines is a fundamental result of scarcity.


d.  Shortages will not exist even with price controls that cause waiting lines since the price control simply eliminates one form of competition.  As long as demanders 


are free to compete in other ways, given the cost, they obtain all the price controlled good they desire.





66.  Suppose the Seattle City Council passes a law limiting the damage deposit on rental housing to $100 per apartment (T/F - explain).


a.  Apartment owners will tend to benefit since they will be able to charge higher rent.


b.  College students that were required to give large deposits will likely benefit.


c.  Yuppie couples with no children or pets will likely benefit.


d.  The required length of apartment leases will likely increase.





67.   Tickets to this years Apple Cup (UW v WSU) are expected to be sold out.  The last few hundred tickets will be allocated to students via a lottery.  In past years, the tickets were allocated by students waiting in line.  What type of students benefit and lose by the change?  What is a far simpler way to eliminate the problem (of too few tickets)?  This game typically "sells out" very early.  Suggest an economic reason why the 


Universities continue to ration Apple Cup tickets.


    


68.  Assume the price to the 1994 NCAA Women's Basketball Championship Final between UW and Texas Tech is set substantially below the market clearing price, but that students can buy up to four tickets each.  If scalping (resale at prices above the original price) were changed from being illegal to being legal


    a.  the total time (added across all line waiters) spent in line would increase.


    b.  the number of people in line would rise.


    c.  employed Husky fans would be better off.





69.  El Nino caused a very low snow pack in the winter of 1992, leading to depleted reservoirs in the summer of 1992.  In response, the City of Seattle announced emergency restrictions in water usage to avoid a "water shortage."  Certain activities 


were forbidden including private car washing.


    a.  Would the actions of the City of Seattle cause or alleviate a water shortage.  Be precise in your use of terms.


    b.  Assume a private water supplier rather than the City of  Seattle owed the water and the exact same amount was available.  Would you expect a private supplier of water to limit car washing?  When there is a reduction in the available water, is it efficient to ban particular water intensive activities?


    c.  How would you expect the City of Seattle ban on car washing to impact the market for auto wax.





70.  The April 94 issue of Sports Illustrated reports that scalped tickets to the NCAA Final Four Men's Basketball Championship "worth just $65 apiece were 'scalped' for up to 


$5000 each.  Win Case, coach at Oklahoma City University was arrested for scalping."


    About ten percent of the tickets to this event are "sold" to the public via a lottery.  About forty percent are distributed by the NCAA.  The remaining fifty percent are given to the final four schools to distribute.  As is typical, Arkansas, the eventual champion, "gave" tickets to athletic boosters who had donated at least $17,000 per pair of tickets.


    a.  Discuss the worth of the tickets.  From the information on the price of scalped tickets, what do you believe the economic value of the tickets to be?


    b.  Is the described system an efficient way to allocate NCAA tickets?  Would allowing scalping be efficient?


    c.  Why might University Presidents (who effectively run the NCAA) support such a allocation system and the scalping laws?





71.  In response to the escalating cost of health care, legislature's have called for various forms of price controls on medical bills.  Assume that physician office visit prices are currently from $40 to $100 depending upon the nature of the visit (followup/routine/ complex).  A price control is instituted that reduces these by 50% from $20 to $50. 


A.  Some have suggested that since no one chooses to get sick, the quantity demanded would not change with the price.  And that therefore no scarcity of physicians services would result from the price control.  Do you agree that visits to the physician do not follow the Law of Demand?   


A.'  Would the price control create a scarcity of physicians?


B.  Would the price control eliminate the competition of buyers to see doctors?  If not, how might it affect that competition (give specific examples)?





72. Lynn and Jean find themselves on a (otherwise) deserted island. 


The only two production activities available are fishing and gathering fruit.  In a full day Lynn can catch 5 fish or in a full day gather 5 pounds of fruit.  Jean can catch 4 fish or gather 2 pound of fruit in a full day.  They each can divide their time between activities with no loss of efficiency (e.g. Jean could produce 2 fish and 1 pound fruit in a full day).  Each currently produces and consumes 2 fish and as much fruit as achievable in a full day.


    a.  Explain how they can both be better off by exploiting the Law of Comparative Advantage.


    b.  After specialization do you expect both to consume more than 2 fish?  Explain in terms of the expected price for trade and diminishing marginal value.


    c.  If Pat shows up on the island with production possibilities of 2 fish per day or 4 pounds of fruit, does Lynn benefit?





73.  The law of comparative advantage implies that


    a.  the person who can produce more of a good should specialize 


in production of that good.


    b.  the costs of goods will be reduced by specialization.
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74.   In one hour Kim can produce 15 apples or 1 salmon.  In one hour Chris can produce 10 apples or 1/2 salmon.


a.  For economic efficiency, Kim should specialize in apple production.


b.  As a result of specialization, the apple cost to Kim should rise.


c.  Chris will get all the gains from specialization and trade if the salmon price is 15 apples.





75.  By working one hour Joan can produce 8 ounces of berries or 2 eggs.  Tim produces 6 ounces of berries or 1 egg in one hour.


    a.  If Joan and Tim meet up, explain how they can both be better off by exploiting the Law of Comparative Advantage.


    b.  As a result of specialization, do you expect Joan's marginal value of berries to change?  Do you expect her work hours to change?


    c.  If Pat shows up on the island with production possibilities of 7 ounces of berries or 1 egg per hour, does Joan benefit?





76.  Evaluate.  A basic result in economics is that societies benefit 


from increased opportunities to trade.  The opposition by the 


Washington Lumber Mill Association to the free export of logs to 


Japan must therefore result from their lack of knowledge of basic 


economic principles.
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